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16U/94/8(i)
No. of Questions : 100
a1 i E’@T : 100

Time : 2% Hours : Full Marks : 300
1
a9 : 27 qUE . YunE:300

Note : (1) This quéstion booklet contains 100 (Hundred) questians in all
(30 in Section - A and 70 in Section - B). Attempt as many

" questions as you can. Each questions carries 3 marks. One mark

will be deducted for each incorrect answer. Zero mérk will

be awarded for eac_h unattempted question.

g9 usT-gRaer § Ha 100 () uew ¥ (@us-t & 30 7
GUs-5 § 70 ) | SARrEITE 9T Y ww BN B TASA B | TP
e 3 (f9) ofel &1 B g% g gov & g ow o
PIeT AT | TAF IART U BN B LT BN |

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

Al T Jepieaes IO el IR B Frehe udia &, af Freean
qEr IaY £
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01.

02.

SECTION - A
€ s - A

Suppose one student complains to his teacher that three other

students have copied form each other in all the tests, which
suggestion from the following will you like to give to the teacher?

(1) give the three students a zero on the last two tests.
(2) consult with student’s mother.

(3) try to understand why is he saying this.

(

4) 1ignore the remark.

qH SIS fob Ueh B o799 o189 A g8 RERRa Har & 5 a9 o
BE 5 Al TR W us gk 8 T e B e # | few gaa @
Y STeATYP FHl A7 TT=< B 7

(1) <+ o=l o Aed & 2w 7 S 2 |

(2) ®E FH AT q TYH HA |

(3) J2 Twe & U9 & 6 I9 8= A THET Rl el |
(4) fewoft 93 eqrT #q av|

The most promising step for a teacher to take in order to improve

class discipline is to :

(1) evaluate his/her material, methods, and approaches to children.

(2) consult the class and agree upon a graduated series of pun-
ishments.

(3) callaclass parent meeting to discuss the situation.

(4) refer the worst offenders to the guidance centre.



03.

U ST B TN HET B SAIATET BN TG B G IUGHT TH
7 B 55 - |

(1) @ oTo=f arnll, fafr qor Surm &1 qedisd &Y |

(2) em ¥ WS HY quT TS B Hih oW v fFreier B
(3) uRRefy oz fRem-famst &g Fer afdrmeas @9 g |

(4) o @RE SO B FEE dm uw) A |

Suppose in a conference, the mother of the third grad(?r asks- Fhe
teacher how she can help to improve her child’s reading ability.
Of the following the poorest recommendation is that she should ?

(1) encourage the child to make regular visits to the public library.
(2) Take the child on trips to interesting places in the community.
(3) Read with the child.

(4) Severely limit the child watching of television.

A &I 6 o g Ao § a8 g BT # AT ST A 98
g@ﬁ%%ﬂgmm&aﬁaﬁaﬁawﬂqsﬂ%aﬁwmér
Frr & 4 w=8 @ve g 949 8 gar & 7

(1) @& B &I A JEased § b O S |
(2) o= B YA H TIEHT WA B AT FHRA |
(3) ®E & AT ST HY |

(4) BE & O 3@ W FERAT F SRy Y |

All of the following are applicable for teaching to create good
motivation among students except that teaching should :
(1) be brief.

(2) relevant to the pupils.
(3) Dbe related to the lesson that follows.
(4) always come from the teacher.

P.T.0,



05.

06.

=t & & asfi Rrerr s=Et & o= st ST
BT TH D BISHT % T e 3

(1) fereror wferer S =nfew

(2) fneror BEt & ergEd @ =R |

(3) T geTw Wi A @ie $ SgEw aFr =Ry |
(4) fereTor BRem SteATIH @ ST =R |

The operation of the class library should be the responsibility of :
(1) The teacher,

(2) Volunteer parents.

(3) The children who contributed the books.

(4) Rotating committees of pupils.

T el GEIhicaid & Hae Hl Saiald el @1y
(1) S7emm9es HT1

2) wWikws AfTHEs * |

(3) 3 F=at &1 PorEd ge®d o= 7 & 2

(4) B & FAHEEHACTT GfEfEl @i

In dealing with a class that is misbehaving, the teacher’s least
effective course of action is to :

(1) ask the principal to observe the calss.

(2) lower the grades of pupils who create the most serious
infractions.

(3) isolate those most responsible for the misbehaviour.

(4) ascertain the extent to which his teaching r-nethod is

responsible.

mmmwﬂwmﬁ%%ﬁ@am%mwﬁw
THET AT T B 7

(1) grar & e B oradid & [l HE |

2) aﬁmaﬁmmﬁmﬁmﬁ%a@raﬁmm%\
(3) W%Waﬁﬁﬂmﬁtﬁmgﬁaﬁwaﬂi‘l

(4) %mﬁam%mmmwaﬁmm%t
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07.

08.

Children’s attitudes toward persons of different ethnic groups are
mostly based upon : . '
(1) their parent’s attitudes. (2) the attitudes of their peer.

(3) their sibling’ attitudes. (4) their religious affiliation.

= & qEd o wE B uiy siEfa g w9 & omeie i @
(1) S oIfraEs =l AEiaT x|

(2) S5 FEl @ AfHgia aX)

(3) I WE FEw & AR uv)

(4) I e FHE X

A child from a disorganized home will experience the greatest
difficulty with :

(1) well structured lessons.
(2) independent study.

(3) programmed instruction.
(4) short answer tests.

T fuiea aRer & =2 @ g9d st Hfewmg arf ¢

(1) YeaaRed ue | |
(2) wEE=EYE® THAT B H |
(3) orlypiia oTgRRE ||

4) gSToa gsAt q)

Effective teacher is he :

(1) who has control over the class.

(2) who can deliver more information in limited period.
(3) who inspires students how to learn.

(4) who carefully check the home assignment.

T UHEN 379 g8 @

(1) TrEehr e 93 Q1 =T &ar 8

(2) ST %9 G99 F s gam ¥ gebar T

(@) ST BBl B Y T T sED A ARG e B

(4) S T8 BT FH AEEERGES SreEr T

P.T.0.



10. Which one of the following is an indicative of the quality of teaching ?

11

12.

(1) maintains pin drop silence in the classroom.
(2) Raises very standard questions.
(3) students reply in the classroom.

(4) Pass percentage of the students.

=t & Q@ @ o7e8 Tee & o 1 SeHe e § 7
(1) =merm d goi enfea g=rd @« |

(2) ATE USHT H IS |

(3) ®ETf Hr e H I AT

(4) @hem H Il SR B ufae |

Rajan is the son of Kumar, Sheela is the daughter of Rajani. Kumar
is Father-in- law of Rajani. What is relation of Rajan with Sheela ?

(1) Brother (2) Dewar (3) Father (4) Son

A, FAR H G B, e, o B G ¥ FIR, T D Ay T
o B e | R Rear @ 7

(1) s & (2) IRd (3 foaw & (4) g3 &

Write the pair which is different from others in the following pairs :

(1) Cycle and Scooter (2) Rifle and Sword
(3) Pencil and Pen (4) Shirt and Taylor
ﬁmﬁiﬁﬁﬁ%mvﬁ%aﬁ%ﬁsﬁmsﬁ%%%%:
(1) @sfee o ¥ (2) EHA TE T
@) UfEw @ (@) T o



13.

14,

15.

16.

27 :16::125:7?
(1) 36 2 114 (3) 136 4) 216
If Bank is coded as DCPM, how the word BOOK should be coded ?

aft aa Bank @Y gfeq Rk srar @ DCPM & @ BOOK &t &#
e frar ST FwaT & 7
(1) MPGK (2) DQQM  (3) DQQN (4) NMCO

Which one number can be placed at the sign of interrogation ?

gsaT e (7) @ WM o) - gEr @ o 96t B 7

15|16 |5
1313 |9
8 [2 |2
20 | 7 |13
(1) 1 @ 4 @ 6 4 7

A man travels 12 km. West, then 3 km. towards South and then 8
km. towards East. How far he is from the start ?

(1) 23 km. (2) 20km. (3) 15km. (4) 5km.

T AR 12 et af¥er e &t orar B ReT 3 Rl aferor Rem @ R
Bﬁsm.‘fiﬁsnzﬁr:w%wﬁamwﬁwmaﬁ%agﬁmmag%?

(1) 23R (2) 20fEh. (3) 15B. (4 5P

P.T.0.



17. Five boys are sittings in a row. A is on the right of B. E is on the

left of B but he is on the right of C. A is on the left of D. Who sits
first from the left ?

e @ U dfed ¥ 32 ¥1AB B aRA RNE, B B A B, afeT C
% TR BVAD ® 9 81 99 § G9d 9B B Jo1 B 7

(1) D (2) C 3) A 4) B

18. Anand is older than Shashank but younger than Rohan. Dhanashree
is younger than Seema but older than Rajshree. If Rajshree is older
than Shashank, who amongst them is the oldest ?

(I} Rohan (2) Seema
(3) Dhanashree (4) Can not be determined

ST ISt & S F 7 B, wReg e @ Sier ¥ gash /e | e
%ﬁﬁm%ﬂﬁa@%lwmﬁﬂmﬁﬁa@%ﬁrsﬁﬂaﬁw
d qaq 921 B 8 7

(1) == (2) € |

(3) eishy (4) & gar AT S bl

19. A person starts from his house and walks 100 meters strai.ght
towards South, takes a left turn and walks 75 meters straight
towards East. How far is he from the starting point ?

(1) 175 meters (2) 125 meters
(3) 100 meters (4) 25 meters

o APy oTaY BX { aferor fem & 100 Hrex dren =w@r 81 @R &
W{{Hﬁ?ﬂﬂﬁ@?75fﬂﬁﬁmaﬂm%la€mﬁ@ﬁﬁ7ﬁ

T WR?
(1) 175 Hex (2) 125HeX

(3] 100:’"\3‘( 4) 25 HieX

10



20.

21.

22.

23.

State the alphabets of the letters which will come next in the
following series :

J areR @t o e Aot 7 ST ST
AD,EH,IL, ?,QT

(1) LM (2) MN

(3) MP (4) OM

EDUSAT was launched on :

(1) 9% September, 2004 (2) 11™ September, 2004

(3) 20% September, 2004 (4) 18™ September, 2004
TgHT H T fhar T _

(1) 9 fHa=IR, 2004 2) 11 =R, 2004

(8) 20 f=ix, 2004 (4) 18 fHawaR, 2004

Recently Government of Bihar decided to give ------- days Child

Care Leave to its women employee :

B H & [SeR 9@ 3 omw wfter syt $ o L o=t &
TS AT T 3 H FeEg B ©

(1) 365 (2) 600 (3) 730 (4) 800

Which one is the first digital state of India ?

(1) Uttar Pradesh (2) Gujrat

(3) Andhra Pradesh (4) Kerala

RA H gBer fSfrea ™ f-ar & 2

(1) SEX qR9 (2) oI

(3) STy Her 4)
11

P.T.0.



24.

25.

26.

27.

Who ig the present Director of National Assessment and
Accreditation Council ?

(1) Prof. H. A. Ranganath (2) Prof. A. N. Rai

(3) Prof. D. P. Singh (4) Prof. Arun Nigavekar
Y STEHA Uvs UM Hefae & adHT FPRas B L 7
(1) 9. T¥o To FMM™ (2) HI. Wo THo ™

(3) @I St dto Riz (4) . ore FrmAEHT

The 2011 Cencus show that adult literacy rate in India has risen
o T :

2011 I SFEIET & SIFAR ARA & Mg TIERAT a¥ I8 B ...
B T @

(1) 74% 2) 65% (3) 85% 4) 78%
Who is the Chancellor of NEUPA ?

(1) Mr.N.R. M. Menon (2) MR. J. B. G. Tilak

(3) Mrs. Usha Tygrajan (4) Mr. Baswaraj Swamy

TH % g W QH grEer B 8 7 .
(1) =t o9, oTR. wq. A=A 2) =t St &, st e
(3) =iwclt Iur @RS (4) =i aEERT @

The ‘Sarva Shiksha Abhiyan’ aims for the given :
(1) Universalization of Primary Education.

(2) Universalization of Secondary Education.
(3) Universalization of Pre-Primary Education.
(4) Universalization of Girl Child Education.

wd faren IREE . H IRW € -



28. When is the 12" Plan coming to an end :

(1) 30™ June, 2016 (2) 31* March, 2017
(3) 31™ March, 2018 4) 31% March, 2019
FREdt QT HE GHIS B 7

(1) 30SE, 2016 | (2) 31+, 2017
(3) 31Hm, 2018 (4) 31#mE, 2019

© 29, PMMMNMTT was launched in :

(1) December, 2014 (2) February, 2015
(3) March, 2015 (4) April, 2015
9w o9 TwH oq oH @ & i el R

(1) RE=r, 2014 (2) wEd, 2015
(3) =, 2015 - (4) o, 2015

30. Which of the following University receives its funds directly from
Government of India ?

(1) RGNAU, Raibarelly

(2) JNU, New Delhi

(3) B.H.U., Varanasi

(4) Vishwabharati, Shantiniketan, W. B.

ﬁwﬁﬁaﬁmmﬁwﬁmaawwﬁzﬁ&ﬁﬁww%?
(1) &R St @9 € g, wgee

2 & @T g, =¥ Reh

(B) # w7 7, arrrh

(4) faea 9eh, enfafiaas, g, 5.

13
P.T.0.



31.

32.

33.

34.

SECTION-B
Ers-9

The value of (sing + icos g)** will be :

(sing +icos @) o1 | BFT :

(1) (~1)*(cos2ng-isin2ng) (2) (-1)*(sin2ng-icos2ngy)
B) (-1)"(sin2ng+icos2ng) @) (-1)"(cos2ng +isin2ngp)

The value of log (10 + 10x + 10x* + .....) is :

RS 2 3
(3) I+x+%+%+......... (4) l-x———=—=wursiois

3+i3
] 2
(x2 +3x)2? (x? +3x+1) is :

If x=

is a complex number, then the value of

afe x=_3+2i‘/§ usp aftay d@em B, ar (x2 +3x)? (x? +3x+1) B AT 2

(1) -18 2) 18 (3) -16 (4) 16

-~ - o —T s
IFS%_3i+2}- 3k and Oh=2i+ 5j- k then, [AB|will be equal
to:
PR R —5 .
af% Oi= 3i+2)-3F T OB=2i+sj-k, @ [AB| @S8R :

(1) io @ 20 (3) 28 @ o

14



35.

: 37.

38.

If the centre of the circle x2 + y2 + ) x+ 3 =0 is lying on the line

x +y =1, then the value of ) is:

i gar x?2 +y? + ;Lx+3.=0 HHE @M x+y=1W R R, @ ) &

HE

(1) -2 | 2) 2 3 -3 4) 3

. The eccentricity of a Hyperbola 5x? + 4y2=11is:

aqﬁnﬁms:c2+4y2=i B S R

1
(1 @ 75 @ 2 @) 5

S

The centre of the circle 2x? + 2y? - 3x — 5y — 7 will be :

I 2%2 + 2y2 - 3x - Sy - 7 P P AN :
0B @ () 03D el

- sin
The value of ym_a‘%_ will be equal to :
i B
S —
lim 94 B HHE TET B
1 1
(1) o @ 1 @ 5 @ -1

5
: P.T.0.



2
39. The solution of differential equation ~j—¥-=0 is :
2

(1) y=ax®+Db, where a and b are constants.
(2) y=ax+b, where a and b are constants.
(3) x=ay +b, where a and b are constants.

(4) x=ay?+ b, Where a and b are constants.

2
amwwﬂw:—x%o BT T

(1) y=ax?+b, ST&f a X b 3= 2|
(2) y=ax+b, ST&f a 3 b =R B
(3) x=ay+b, 5 a 3 b AT 2|
(4) x=ay?+b, S8l a 3R b 3R B

Lo wwy
40. A 3x2 matrix whose elements are given by a;= E!! -3jl is :

Lo
u 3x2 overe e etama ;= li-3)l & & uE 8, Bem

-

1

n

1

-
o ol

(3) (4)

2
2
L)
2
@) :

o v | —

(1)

W W o

= b2

to | W

16
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41.

42.

43.

The absolute maximum value of a function f(x) = 2x®- 15x* + 36x +1

on the interval [1,5] is :
ST [1,5] 9% s flx) = 2x3 - 15x2 + 36x +1 FH FRAer stEre
a9 ?

(1) 56 (2) 48 (3) 62 4) 54

‘The point at which the tangent to the curve y=[4x-3 -1 has its

2
slope 3 is:

98 farg, Rr T % y={4x-3 -1 & Tt & g % 8, 8 :
(1) (2,3) @) 32 3) 4.3) (4) (3,4)

The equation of Normal to the curve Y = x3 at the point (1,1) is :

farg (1,1) W ap Y = x3 $ aifwra & aeiieor & -

) ey & g () x+3y+4=0
] x=Iy==0 (4) x+3y-4=0
If y=tan" 1 -cos x

dy .
— then the value of é will be equal to :

St locusx dy
Ak y=tan 1+mx’ﬁafmmﬁaﬂwaﬂn:

N -

1
7 P.T.0.



45. The area of triangle whose vertices are (-2,-3), (3,2) and (41,—8) is:
(-2,-3), (3,2) T (-1,-8) sfif fargal amr Brgst &1 &=t 2 -

(1) 5 (2) 10 (3) 15 4) 20
4 A= coso.  — sina
= -1 = .
6. If _ , then the value of A will be :
cosa -sina
A= 3 .
e Lim msa},?ﬁAlammﬁs‘mr.
cosa sina cosa - sina
(1) - sina cosa (2) sina - cosa
cosa - sina | cosa —sinu]
©) - sina  cosa (4) sina cosa
25 31 15
47. The value of the determinant 42 63 48 is :
156 100 112
25 31 15
42 63 48 & A B
56 100 112
| 4) 3948
(1) 225 (2) 1265 (3) 2635 (4)

18



48.

49.

51.

In a triangle AABC, if a = 25, b = 52 and c = 63, then the value of

A
tan;willbe:

AABC & af¢ a=25,b=52 @ur c=63dr, % & A BRI

@ @ 3

W

T |
M 3 @)
The distance of the plane x - 2y + 4z = 9 from the point (2,1, -1) is :

g (2,1,-1) @ @ae x- 2y +4z=9 FH g B :

13 11 17 19
0 @ 7w O 7 @ I

. The integrating factor of the differential equation

(1+X2)% +2xy= is :

1+x?

STIHA FHHTT (l+x2)%+2xy= L e T B

1 +x?

1 2
(1) 75 @ & B 1+x (4) 1+2x

- The condition that the roots of the equation ax?® +3bx? +3cx +d = 0

may be in geometrical progression is :
THIFROT ax3 +3bx? +3cx +d = 0 ®
2 T IO AN F & g @

(1) bd +ac? (2) bd+ac
(3) bd-adc @) b3d - ac3

19
P.T.0.



52.

S3.

55.

56.

522

.If z =ye¥, then ps at (0,1)is equal to :
»-\2
Z

AR z=ye™, & (0,1) W — s ¥ :
(1) © 2 1 (3) 2 @) 3

The value of r] | x| dx will be equal to :

[ x| dx @1 = s @ -

3 - 3

M 3 @ ; @ 3 @ 1
The val fjwdxise ual to :
e value o N q 4

tan (sin"'x)
f “ﬁdx HT AT aXER B :
(1) log sin(cos™x)+ C (2) log cos (sin”!x) + ¢
(3) -log sin (cos™'x)+ ¢ (4) -log cos (sin'x)+ ¢

The area of the surface bounded by the curve y? =, linesx=1,x=4
and X - axis is :

T y> =X, Jere x=1,x=4 ud x- o751 § R &F & &eaT ©

7
1 = @ 3

16 11
5 2 3 @ 5 :

(1)
The Pascal Law of combination is :

T T TR R B
(1) rlCr)rnC,-_1=nﬂCr (2) nCr+1+”C.-_1'n+IQ‘
(3) ™ler ooy Or (4) o+l 0o T

20



57.

58.

59.

The value of 15(cos 150° + i sin 1509 + 3 (cos 60°+ i sin 60°) is :

15(cos 150° + i sin 150°) =3 (cos 60°+ i sin 60°) T A B
(1) 5i (2) 5 cos 60°
3) S (4) 5 sin 60°

The squarroot of (5 +12 i) will be :

(5 +12 i) 1 A BT - _
(1) +@2+3i) (2 +(1+20) () +@+2i) @) =@+5SY

. . 4 S5Y ;
The 7™ term in the expansion of S o) I8¢
4 ’ -
(l——s-] ¥ wErR § Gt wE P
5 Xxx
7500 8500 9500 10500
L = @ — 06 4 —3

. The equation of that plane which passes through the intersection

line of the planes r@i-3j+k=5 and 1(+5-2k=1 and is
perpendicular to the plane r(i+ ]+ 5k) =3 will be :

SH FHAA B THIBIOT ST FHAA rQi-3j+k)=5 T r(+5j-2k)=1

FT ARrEBT I |/ BHL SN & T T i+ +5k)=3 I T 8
B

(1) rEi+3j-k=6 (2) r@i+2-k=6
B) ri+3j+k)=6 (4 r@i+2+k)=6
21

P.T.O.



2i-j+2k att=2

61. If (V)= {
4i-%j+3katt=3

Then f ( Jdt is equal to :

() = M- ]+2k att=2
B 4i— 2j+3katt 3

(1) 10 @ s 3 6 o 4
62. The value of r% fiie

F% P A ¥

N 2%3%?{%(%)2 2) z-%gé,;%[fg

o 2_513_;“-5[%]! @) 2.-23'%,;%[1*5

63. The order of each element of the group ({l,0, »'},) will be :

6 ({L0,'),) D IIH GGd H (\321)37;5:11 ?11; :
1, 2,3 g
((?1>)) 1,2,2 @) 1,3,2

22



64. If A = {1,2,3,4,5} and R = {(x,y) : x>2,y=3} then the Domain and
Range of the relation R are :

(1) Domain = {3,4,5}, Range = {3}
(2) Domain = {1,2,3}, Range = {1}
(3) Domain = {2,3,4}, Range = {2}
(4) Domain = {1,3,5}, Range = {1}

ARk A ={1,2,3,4,5) 0 R = {(x,y) : x>2,y=3} a?rmRanéﬁq
T ARER B

(1) = = (3,4,5}, aRET = (3)

(2) 8@+ = {1,2,3}, 9@ = {1}

3) 3MT={2,3,4}, IR = (2

(4) sWF={1,3,5}, aRET = {1)

65. If A={X:X < 5xe N}, B={x:Xx<10,xe N} andC={x:2<x<6),
then A- (BN C) will be equal to :

A A={X:X<5xeN},B={x: X < 10, xeN} @1 C = {x : 2<x<6),
@ A- (BNC) sRmEx Bnr-

(1) 8,4 @ 1,2 3) {2,6} @) 3,5
9]
66. The value of '47(:4”*.}:3 2y is.:
47 + Z 52-103 & =Y

(1) 48c4 @ %, @ X, @) s,

23



2 2

. The asymptotes of the hyperbola % i i— =1 are:
X 2
3 = - %; =1 & st ¥
_ L ax ay’ a’y’ bx
1 Y — _+."— = ———a — y — Sy
(1) 5 (@) x=tF (@) x=i— (4) y=*

. The sum of the fifth powers of the roots of the equation x*>~1 =01is:

T x9-1 = 0 @ T B et A A ¥

& 0 @ 1 @) 2 @) 3

. Tt 4uaa® is equal to

1.3 5.7 9.1l
|
ettt ® FIET B
1.3 5.7 9.1
n = .
1) @ 3 g @5

_ The radius of curvature at the point t on the curve X = a €08 1
y=bsintis: “

aaax:acost,y=bsintaﬁffa§t g ke B ¥-

! .I - - 32
alcos’t + b’sin’t n 51_"’_sm2t.+ bicos’t
e BN
if" 1
azcoslt + bls'm:t\ - 4) (azsinzt + bzcoszt]z
_____._.—--""_._--_—___-— ———eee e ——————
(3] ( ab ) ( ab

24



T1.

72.

73.

T e MR Boll TR W

A ball is projected vertically with a velocity of 49 m./ sec. at 30°
from the horizontal. The range on the horizonal surface is :

@%49ﬁo/ﬁo%aﬂﬁéﬁfﬂ?aﬁﬁﬁ30°%aﬁwwﬁ
el B 1 AR a9 9% 9= &n

(1) 242‘/5 metre (o) @) 242‘5 metre (sfto)
(3) 24;\6 metre (o) 4) - 2455\/5 metre (*f1o)

The two forces P and Q act on such an angle that their resultant
force R is equal to the force P. If P is doubled,then the angle

between new resultant force and Q will be ;

WPWQ@Q%WWWW%%WWWR EL|
P%W%mﬁwPaﬁﬁwmﬁmw%ﬁr@Ww
AR Q B e &1 Fyor Ay - |

(1) 90° 2) 60° (3) 450 (4) 300
Let a person of 50 kg. weight be inside a lift, then the weight of

that person when the lift is being lifted vertically with the
accelaration of 4m. /Sec?, will be equal to :

(1) 89 Newton (2) 360 Newton
(3] 690 Newton (4) 870 Newton

WWEOMOWW@W@W%W%#&W
4 Hro /o %Wﬁwwwaﬁrw%mwm;

(1) 89 =ew (2) 360 e
(3) 690 =ge= (4) 870 =gew

5 P.T.0.



74. ¥A={1,2,34),B={a, b, c,d)and c={, m,n}wheref: A —Bandg:B—C

75.

76.

are defined by f : {(1,a), (2,¢), (3,b), (4,¢) and g:{a,l), (b,1),(c,m),
(d,m) respectively, then (gof) : A—>C will be defined as :

afk A=(1,2,3,4}, B={a, b, c,d)dar c={, m, n} sEf f: A B @
g: B C mmw 1 {(1,a), (2,0), (3,b), (4,0) T gifa,l), (b,1),(c,m),
(d,m) &rT aftefya & (gof) : A—> C uRIfee 81T :

(1) (gof) : {(1,1), (2,m),(3,1), (4,1)}

(2) (gof) :{(a,1), (b,2),(c,3), (d, 4)}

(3) (go : {(a,1), (b,m),(c,n), (d,n)}

@) (gof): {(1,m), (2,1),3:n), (4.1}

The sum of n terms of two arithmetic series are in the ratio
(2n + 3) : (6n + 5), then the ratio of their 13™ term is :

ﬁm%ﬁr_&f%nq&fmd’m(2n+3):(6n+5)%aqamai’i%a‘r
ITT® 13F g 1 U B

(1) 29:83 (2) 53:155

3) 31:89 4) 27:87

ot

A 1
If A and B are the two events-such that P(A)=2 [§)= E’and

B) 2
P[;J =3 then P(B) is equal to :

o @ gemd A ok B ¥@ AR ¥ R PtA)=-}.P[%]=§, e

pi_‘%}%, &t P(B) &Y A

o | W
=
|

o . @ 3 @
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77. The number of binary operations on a set {a, b} are :

qgea - {a, by 9X fEemard w@ikanett @ wear ar ¢ |
(1) 10 2) 16 (3) 20 4) 8

78. If the discriminant of an equation is zero, then its roots will be:
(1) Real and Equal
(2) Real but unequal and irrational
(3) Imaginary and Unequal
(4) Real but unequal and rational

- g RSt g aHiwer & ga e o
(1) arafas R a9
(2) arfaeh by AN e TaRay
(3) <Iftrepleas @ SrEEE
(4) avafas Reg oTo T qur gRAY

79. For vector r =xj +yj + zk :

qiesr F=xf+yj+z§ F o -

(1) div;=1,curl; =0 (2) divi=2,curl;=1
(3) divi=3,curl;=0 (4) div;=4,curl ;=1
80. The shortest distance between the lines x;3 =l _18= Z;J and
x+3=y+7=z—6, .
= TE I
| Xx-3 _y-8_2z-3 x+3 _ y+7 z-6
a5 = . T T3 T T # W @ g
T e
1) @ —= (@ s
338 o (4) 3430

27
P.T.0.



81.

82.

83.

Fr 1 I
iom the histogram of a frequency distribution with equal class
width, we can calculate the value of :

(1) Median only (2) Mode only
(3) Median and mode both  (4) Neither median nor mode

99 77 R g Al areERar sed & oA o A, 89 " @
MU T TR & -

(1) Had mfegepr (2) had dgah

(3) wifegen oY w@ged @Ml (4) T A AfeAH T AEgEH

The most appropriate diagram to represent the five year plan out
lay of our state in different economic sectors would be :

(1) Divided bar (2) Percentage bar

(3) Pic (4) Coloumn

S T S orgd wRer & Gaedia A aRe @ ae B
forr TdlfEa IRE 8FT -
(1) e smaa (2) wfcierd &

(3) W (4) &=

Mr. X wants to purchase a car but he is confused to choose the
one. The probability that he will go for category B or C cars are
0.54 and 0.46 respectively. If he selects category B cars he will
purchase either palio or Indica with respective probabilities 0.48
and 0.52. On the other hand, if he goes for category C, the
probabilities of bying Accent is 0.59 and that of Ikon is 0.41. In
the light of above information, which car is most probably going to

be purchase by Mr. X
(1) Palio (2) Indica  (3) Accent (4) Ikon

28



Y X O 1T GlieeT amed ¥ aeeg Rdt o B g F e ¥ s
iR % @& St B ar Soft C a3t &y & fvg Y | sas: 0.54 oi
0.46 &1 ai 7 At B &t 1 g ¥ 9w a1 @ wiRedt ar SR @
A FAHT 0.48 ST 0.52 F wrer @i | gl ok a8 C avh &
e s & & v 3 @iy ) wiRear 0.59 R MmEHE @ 0.41 2
wﬁww&ﬁ%wwﬁmeaﬁm@ﬁmwaﬁmw
qaifees T B

(1) grferay (2) sfvser
(3) wa= @) SrEEHE

. In tossing of a coin four times, the events E, an E, are mutually
exclusive if :

(1) E, is getting at least two heads and E, is getting at most two
tails.

(2) E,is getting at least two heads and E, is getting at least two
tails,

(3) E,isgetting at least three heads and E, is getting at most
three tails. '

(4) E, is getting at least three heads and E, is getting at least
three tails.

- 29



40U/ %[ Ol1}

85. An unbiased coin is tossed until a head is obtained or the total
number of tosses is 7. It is desired to calculate the probability of

event E that coin is tossed at least three times. In this context,
read the following statements carefully.

S, : The total number of mutually exclusive putcomes is 8.
S, : Number of favourable outcomes to E is 3.
S, : The probability of Eis 5/8.

Choose the correct answer from the following :
(1) S, istrue but S, and S, are false.
(2) S,andS, are true but S is false.

(3) S and S are true but S is false.
4) All are false

@aﬁﬂﬁfaﬁﬁaﬁaﬁmm%wmﬁwﬁ&wqam
-mgasmﬁﬁH@T?HamimEﬁﬁfawwawmw
mw,aﬁuﬁwaﬁwaﬁ%%u{ewﬁﬁﬁﬁ%ﬁgﬁm

%l egas 9o :
Sl:ﬁwmﬁqﬁ“ﬂﬁﬂ%ﬁWB%l
SQ:E%wqﬁ“ﬂﬁﬂﬁﬁ@TS%I
SszEﬂﬁmﬁﬂﬁTS/S%l

ﬁﬂfé{f@ﬁﬁﬁﬂ‘é’rwgﬁq—-

(1) s,@& & 97 S, ax s, o &
) 8§, R s, @& € Y S, Ted B
(3) a?l‘{S @%WSW%I

o ol B
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86.

87.

88.

In a university 60% students are male. 50% of the male students
and 30% of female students are smokers. If a student is seen
smoking, the probability that it is a female student is :

(1) 0.3 (2) lessthan 0.3

(3) between 0.3 and 0.4 (4) more than 0.4

el Rareafiremerr % 60 sfverr s/ gow ¥ | go T B 50% S HRe
W%SO%WW%'%IH&@%WWW@WT%@W
8, df 78 U% Afeen o= ¥ @ ST a6

(1) 0.3 (2) 0.3 & =9

B) 0.33X 0.4 3 iy (4) 0.49 A

There are three bags each containing 12 white and 8 black balls.
One ball is drown froms the first bag and placed in the second
bag. Then a ball is drawn from the second bag and placed in the

third bag. Finally, a ball is drawn the third bag. The probability
that bag drawn is white is :

(1) 12/20 () 13/20 (3) 12/21 (4) 13/21

Which of the following cannot be probability generating function ?

P & & O sifaar o B e B?
(1) 532 - 5)1 2) (1- 5'9/10(1 - 5)
(3) 5/(2+5) (4) 471 + 35)°
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89.

90.

Read the following statements :

S, :Poisson distribution is limiting distribution of Binomial
distribution.

S, : Poisson distribution is limiting distribution of Negative Binomial
distribution. _ _

S, : Geometric distribution is a special case of Negative Binomial
distribution.

Choose your answer from the following codes :
(1) S, and S, are true but S, is false.

(2) S, and S, are true but S, is false.

(3) S,and S, aretruebutS, is false.

(4) All are true.

ferifaad deFl @l 9ieT |
S, @ e fEug Fed H A FeT

Frteied el § @ o9 SaX gig

(1) S, i s, @& ¥ aTg S, T B
) SI@TSSH@%ngw%n
(3) Szaﬁ“(S's-ﬂ'*o'Tg'CI'{ﬁSlTﬁlﬂ%l
@) @i T

XX i i variables with paramater
and X, arc mdependent Poisson €S . . -
f’}\. 2z’?um:}. Ny :;‘espectively Mz A= A;) The conditional distribution
1Vl 3

of X,,Xp,%; given that X, +X,*X, = 100, would be :
1’ » s | . !

(1) Poisson 2) Bu.loml.'fal

(3) Hypergeometric (4) Trinomial
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LGS Iy O

X, X, A X, B89 A0, R A, (A, 2 A, #y) STERT I @A GEEr 7
g1x,x, AR X, T A e, sty Rar mr g, i X, +X,+%, = 100,
B

(1) @r=Et (2) fEu= (3) gusfafr (4) Bug

91. Out of the three basic principles (randomization, replication and
local control) of design of experiments, CRD uses :
(1) Randomization and Replication only. |
(2) Randomization and local control only.

(3) Replication and local control only.
(4) All the three.

(2) %ﬂﬁqﬁ%ﬁéﬁrqeﬁ'(wﬁuﬁaam

@) FaT gRERT oM worha R
(4) &R A B g ey 2

92. t- distribution with one degree of freedom is :.

(1) Not defined (2) Beta distn'bwou
(3) Fdistribution (4) Cauchy distribution
O =N B arer ¢ gey
(1) 9Rsfye =& (2) ser-sies
(8) F des (4) ®rsft ey
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93.

94,

Given that P(A) = m, and P(B) =n then P(A/B) is never :

(1) lessthan (n+m-1)/n (2) greater than (n+m-1)/n

(3) lessthan (n+m+1)/n ' (4) greater than (n+m+1)/n
fear T & 7% P(A) = m @K P(B)=n @ P(A/B) el of €t o @
(1) (n+m-1)/n & HA

(2) (ntm-1)/n & S

(3) (+m+l)/n | FH

4) (n+m+1)/n q aAferep

A random sample of size n is drawn from a population having

probability density function :
f(x/9)=1if ol<x<o+s

- 1 2
= (0 other wise

If x (r) denote the rh order statistic, the maximum likelihood

estimater of gis:
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95.

AR g9 HeTe
' 6o<x<+L
flx/0) =13afk 8 <x<0+5

=0 =

T@%Iaﬁﬂﬁy%ﬁw'wwwmmw‘%iﬁxm
r & SHACT SRVERIST B Hias R R, A o e T o D -

1 1
(1) Xt ) (2) X 3
(3) ﬁ%—)&i ~ (4) All the above three |

ST g AT
X is standard normal variable, Define :

_ X i [X]<1
X if |X]>1
The distribution of Y ig :
(1) not determinable

(2) standard normal

(3) normal with mean less than zero and variance more than one

(4) normal with mean zero and varance less than one

35 P.T.0.



X #Me JEEFT =7 8 | aieia S |
Y:{X af |X|<l

X g |X>1]
Y &1 ge :
(1) Fafd =€t 21

(2) HEH THHH |
(3) Wﬁwmaﬂrwﬁeﬂrﬁﬁwwwn

(4) WW@T@%WWWWI

96. The cummulative distribution function of a random variable is

always
S, : right continuous function.

S, : having only countable number of discontinuity points.

S, : monotone non-decreasing.

Choose answer from the following :
(1) S,andS,aretrue but S, is false.

(2) S,andS;are true but S, is false.
3) S,& Sjaretrue but S, is false.

(4) S, S,and S, all are true.
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97.

98.

frelt agfess aX 1 dodl deq o §ad ¢

S, : aMfeeT T e

S, : THad fargell @t dad TOFR dEEar @H At
S, : T% ©Y JETHAT B B |
Frfifea 2 ¥ o™ IR gy -

(1) S, M S, ¥t B =g S, o |

(2) S, X S, WEt ¥ wg S, T ¥

(3) S, 8, W& B =y S, T B
4) @ s, s, s, W ®)

If the degrees of freedom for the error sum of square in Latin
Square design_ is 12, then its order is :

-uﬁ%ﬁ?ﬁaaﬁaﬁwmﬁg&—aﬁ—ﬁwﬁ@mm 12 &, & g9
hH : .

(1) 4x4 2 5x5 3) 6x6 4) 7x7

Which of the following is correctly matched ?

(1) Fisher’s Factorization theorem — uniformly most power ful
test.

(2) Neyman - Pearson lemma — correlation coefficient.
(3) Rao-Blackwell theorem — Minimum variance Unbiased estimator.

(4) Boole’s inequlity - Moments.

Freffem & & v adt Fremar mar @ 2

(1) %awwwm-wmwm|
2) %ﬁw—ﬁaﬁwnﬁﬁm—ﬁwm——am;

(B) YI-=wAw Y- LT TEROT SR ST
(4) T B srafrr - st |

37. P.T.0.



aae s R R

99. Bowley’s coefficient of skewness is based on :
(1) Mean, median and mode.
(2) Second and third central moments.

(3) Second and fourth central moments.
(4) Quartiles.

T3 AT fermar oniss

(1) #\re, miftgepr o) ggas 9T STeiiRa 2 |
2) @Y SNX W =g R iR ¥
(3) TET NT NA =T A qT ImuiRe B |
(4) =Tges 9T SuRa 21

100. The classes are not of equal width in a given grouped frequency
distribution.

Statements (S) : we cannot represent the data by frequency
polygon.

Reason (R) : Histogram cannot be traced.

Choose your answer from the following codes :

(1) Sis true and Ris its correct explanation.
(2) Sis true but R is not its correct explanation.

(3) Sis false but Ris true.
(4) Both S and R are false.

%‘@R‘&ﬁﬁmﬁaﬁaﬁmﬁa&%#ﬁ%l

e (9) : & gEER IR SgYS BRI WA e H T ¢
Freer (R) ¢ AToT Ry e e 1w 1 |
Ereriad &t § @ o I g

(1) S@%WK%“@M%l

2) SH@%WRmﬂamqﬁ%l
3) S W%@TRW%I

(4) Raﬁ(SﬁW%l
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10.

1.

12.
13.
14.

Frwfaa & for fde

(mgfﬁm%mmgrawmm-w&aﬁgefw

Faw Heh- el arer-ange 47 @ & e
e et e & 0 firiz % et @ 2@ & f weer § @t 7 i ¥ S A
m%ﬁ%t%ﬁmﬁﬁmﬁwmm—ﬁﬁwﬁmm‘
TEYT H g RAE I H Al
e v § e waw wdw-u & At o a1 W Fi i ge ws T
F 7 & |
W—wm#ﬁww?rW?ﬁﬁ?‘aﬂraﬁﬁﬁaﬁ?gwﬂm-ﬁaﬁﬁwmr
FawT FT-UF FT & JoAIEHT 1Har A
mmﬁwmmww’mm.m—wm&qﬁﬁﬁﬁawmﬁ@
m—w&mgﬂ'wh#mmﬁﬂﬁﬂmwﬁmfmﬁﬁ?ﬁaﬂ
Wf;;é'! aﬁ-aﬁmﬁaﬁm-gﬁmwmwﬁzmwm%amﬁ
gv f .
o THo HRo UF UT AFEHIH W, mgﬁawr#waﬁz#wr(af%aﬁfa?) aar
SyAgfaT U7 SgEAIE I Fo THo Ao T e &} gfafEat 7 suieraT &1 JgArd
T 8
wﬁﬁﬁzﬁ#‘aﬁfﬁaﬁaﬁs&ﬁﬂ%mmmaﬁ#mw @ Fraa
e & YT WA A
m-W#’Ww%meﬁﬁn@fmﬁwm%%ﬁwm%m
amaﬂaa?-w-a?mﬁﬂwﬁ%'mﬁﬁ#m?qwaﬁm-w%rmwwﬁ&n&
ﬁé%ﬁ‘%agm&:#marm?: :
mm%m%m%ﬁa@ﬁqﬂaﬁwﬁy@ﬁaﬁﬁqﬁﬁwm
mm@qﬂﬁ@@lﬁﬁﬂt%mwwmt .

' mmmﬁwm?wﬁm 7y @ I
O e fon e e o a1 09 27 0 7
3 fad s )
mm%mmg@mwﬂﬂwwmm‘ﬁmmw



